NBR=OAMR—)U FERIERNER

@ KF—I(1.1058) CF)
&5 G T Fi& R FRIF1% TR £8
(9:00~12:00) (13:00~17:00) (1800~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00)
J— g 28,600 41,900 53,400 70,500 95,300 123,900
|
+TB% 33,400 49,000 62,400 82,400 111,400 144,800
P g 20,020 29,330 37,380 49,350 66,710 86,730
DI+ DRI
) +TB% 23,380 34,300 43,680 57,680 77,980 101,360
O KF—IEE (&)
&5 BT Fi& wE FRIF1% TR £8
(9:00~12:00) (13:00~17:00) (18:00~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00)
BEA 1,000 1,300 1,300 2,300 2,600 3,600
KEB 800 1,100 1,100 1,900 2,200 3,000
KEC 700 900 900 1,600 1,800 2,500
ED 1,200 1,600 1,600 2,800 3,200 4,400
KEE 1,600 2,100 2,100 3,700 4,200 5,800
R 1,500 2,000 2,000 3,500 4,000 5,500
@M FE—IV(296FE) €D
&5 G T Fig R FRIF1% TR £8
(9:00~12:00) (13:00~17:00) (18:00~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00)
RS 6,300 9,200 11,700 15,500 20,900 27,200
=F 9,500 14,000 17,800 23,500 31,800 41,300
QK- EE GED)
&5 G T Fig wE FRIF1% TR £8
(9:00~12:00) (13:00~17:00) (1800~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00)
REG 500 700 700 1,200 1,400 1,900
EH 500 600 600 1,100 1,200 1,700
2R 1,000 1,300 1,300 2,300 2,600 3,600
QRAIHA (D)
&5 BT Fi& wE FRIF1% TR £8
(9:00~12:00) (13:00~17:00) (18:00~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00)
28I 3,400 4,500 4,700 7,900 9,200 12,600
ORE= (1 ORERE (9
X5 (9:00iﬁ1ﬁ2200) “ 3:0?):%1A5IOO) “ 5:33%1B 7:30) “ 8:O§%?§1 100) (9:002'132A1 :00) X5 18 (9:00~22:00)
RB=EA 900 600 600 900 3,000 R g 12,600
|
HEEB 900 600 600 900 3,000 TB®R 16,900
HEEC 1,200 800 800 1,200 4,000 T g 3,200
[=L¥s)
‘*.\,au_ﬂﬁ ()] “ 8:0%55?22200) (9:OC)§~EI2E;ZOO) FEOVAEDS 1Bk 4’300
X5 788 (&89:00~22:00) 1,200 3,300
KFBE « T+ S5 —OBTOABROIN « BRI
1 8,300 1,200 3,300 TEFL A, N \
XNE < BEICKD. NRAMUTORENRE LIZBE
o 10,500 1,600 4,400 Sl NS TED DB CREBEBRDET.
ne - GHEAS
Q@ KF—=IiNF=)V - RBTAHE R PN | 2 XBRIZOBE, HATRT

1~500m EALRH X 125/100 UN—IL - 4 » USRI EABRE (TR X 70/100
501~1,0008 EAREAN X 150/100
o~
PN . SO,
Ba% | 1001~z000m e X 200/ 100 FERA (EH20~7 BRI EABRE (TR X 50/100
2l

A% | 2001~30008

EABAM X 250/100

QWK R2TF

3,001~5,000M

EABAM X 300/100

BRRFTDHETORE

EAEAR X 350/100

50018~

EABAM X 350/100

ORTE

ABHEERHINT 3B5
RO BRERTETORE

EARfEAK X 350/100

I---------------------------\

i \
| \
I \
\
i N
| N
' |
' |
' |
' |
' |
' |
' |
' |
' |
i |
A !
I MNHE =D H R — v i
i _ |
e, I
i |
| (9 ODAWARA I
I ' SANNOMARU :
!  HALL :
i
I
i
:-)14 " ~>}14 N2 /\ |
I = ° = ~
L RER-NwRERESER
i
- :
I !
I !
: !
: !
I !
I !
: !
: !
I !
I !
: !
: !
I !
I !
! !
A !
\
N !
A l
AN I
So |



INBR=DOAR—IU (UExiEERANER

& KR —LERERGR

&/ Mh—)VEERSR

XIUHERIBRE L ERDBEADSHEENCLET

SHARR
#s (") Ll (M
£:1:3 X5 | Hfi fEMRH £-4:3 X5a | Hfi fERH
SEESDILEY ©A=—EVTSA & =} 2,500
THEIK (SIZSHEOBHEID 13 27100 IR=5T)LaErs 8 500
BEASOA, 157804 RS 1 T3 200
SREESTY A 2R 54~ 500w B 300
TE2K (SIETHEHIBRE) ! 14900 My RS54k Tkw 18 400
AEEAOR, FFA0R 27y RS54k 1.5kw 18 500
BEESTEY B TUTIAHIRARY RS54 18 400
TH16K (SIETHERBERIE) 13 7400 /N=51 F 500w 18 300
BEAS20K. 57204 RS - ke 18D g 400
FES (KR —)L) 12 9,000 IOz DORNYYVEY R 150 1,500
PR VR —)L) 1= 6,500 BIDI D B8 1,300
SEEKT =} 100 =S—R=JU =} 1,000
s B8 300 v k31 k 151 600
PITSPT 1XD B8 100 LEDST K =} 300
U&DE(E - iR « BOFS1IX) 13X 1,500 Lh=—EYITSA 186 1,000
B ASLPYA 11X 300 NOTYEYZRY RS 186 700
NUIN= 25V E 1= 200
AR 118 500 8 (M)
fHOABR 118 300 £4:3 [F4) Hifi fER#
REEHE 18 200 SA1FTIYIONAD =} 800
SEEAERE 18 200 IVFIY=N1D 16 1,200
Y 18 200 INDIF=NAD 186 800
HELA 18 250 DA VPLUAVA DA (R—IUFIA) =) 3,000
BENRED T =) 500 DA PLRAVAUB  (BREHEPATIME 16 1,600
7270V 09—A 12000Lm =] 5,000 YIIFY— 16 500
270V 2045—B8 3000Lm =} 1,000 CDJLVv— 1XD 18 1,000
ROV =2 B((2001 VF/B1IE) 18 500 SoEREEA (CD - SD¥) 18 1,000
SREEB ANy =7 18 800
Kz m IND—RZE=H— 16 1,000
£:1:3 X5 | Hfi fEMRH 2E—=H— 16 800
EP ) (REAVDTA) D274 =} 10,000 BRBEEP AYRTAA (R 16 2,000
E7/ (RE1VDxT+) D-274(8) 1XD 16 7,000 B2BEEP AV ITAB (MR 18 1,000
Er/ (v¥/\) CFI 16 5,000
R mwm
£4:3 E4 Hifi =M%
Ty« J1Pv— 1 %A 20
Fv Y —=NR)L (3:&) 18 =) 1,500
BEE =} 700

a#a m #a (m
2¥ =% Bify =R =¥ X% Bifsy fERH
BEmEs 10 3,000 EEES 11N 1,000
SEEL) 1= 1,000 SEAN 15 500
BEESE =) 300 BEEE =) 150
BEEREEsS B 200 EIEEREEs =} 100
IV RSNREBF 1B 100 IV RSNZBF N 15 50
BE B 700 BE =} 600
1X5D
ISVFH—Ry 1= 1,000 INVFH—Ry 1= 600
BETRERE B 100 BETREE =) 100
,,§%ﬁ9$j¥ =) 100 BEEABF =) 100
we 1= 1,500 IaEL =) 350
HLDE =] 200 e m
IRBEE (=] 350 B X% Bifsy fERH
ke (M) s DrvLaxess 1R% 15 4,000
2% E® | Hfi SEAHE IEBRIEB (51 FI v IV IX22D) 1= 3,000
LERBB A TIV IV IX2ED) 1xy = 5,000 =¥ X% Bifsy =¥
AOU=VA (INyvDEzEA £ 18 2,500 WEEHD Y FA(DVY—H) 1= 17,000
=RDDESB 1= 2,000 ANV Y B EEERD) 15 8,800
L () LY —EYZRY RS 1RD =) 1,000
£ Ea | Hf fEAR# PyIN—RIVIY RS~ 151 700
PN DY FADYT— %) 1= 30,000 OPRUJY RS1 + 15 700
WLV Y B EEERS) 13 24,400 Bx m
I -EVIRY 351 1XD =) 2,000 2 X% By fER¥
ZIAC DAV E 15 700 58X =) 4,000
OPRIIY RSA 151 700 LEDRRY b5 + 18 18 200
D0/ IRV 18 500
O8I 7 BRERRD
3 (M) O FB=A BERR
2# X5 Bifyy fERH B2 ()
57/ (AJ4) RX-1 1X%D =) 1,500 =¥ X% Bifsy fERH
EPJ R=BYRLI»P=) PuvIS(k 1XD | 18 1,500
, ¢ FB=C BERR
J =8 m
& X% By fER¥
D Acark BRI =) 250
FH-PVT 1X5D = 250
V/ T [ 250
K m
=¥ X% Bifsy fERH
AT R B 250
IYYA S -HES 1XD | 1= 100
AN 13 500




